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Question No: 1 (M - 1) . (http://www.vuzs.info)

If 140.57 is network address and 220.200 is machine address then which class of network it is?
» A
» B
» C
» D

Question No: 2 (M - 1) . (http://www.vuzs.info)
How do you change the left margin of an element?
» padding:!

» text-indent:

» margin:

-I» margin eft:

Question No: 3 (M - 1) . (http://www.vuzs.info)

In Style Sheets, How do you display hyperlinks without an underline?
» a {underline:none}

» a {text-decoration:no underline}

» a {decoration:no underline}

» a {text-decoration:none}

Question No: 4 (M - 1) . (http://www.vuzs.info)
What is the correct CSS syntax for making all the
elements bold?

/>» p {font-weight:bold}

» p {text-size:bold}

Question No: 5 (M - 1) . (http://www.vuzs.info)
Following are malicious programs EXCEPT ----------------- .
» Back doors

» Trojan Horses

» Firewalls

» Worms

Question No: 6 (M - 1) . (http://www.vuzs.info)
You can reference an entry in an array using ?
» myarray(entry)

» myarray[entry]

» myarray{entry}

» myarray

Question No: 7 (M - 1) . (http://www.vuzs.info)
You define an array using --=============-=- .

» var new array = myarray;

» var myarray = array new;
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» var new Array() = myarray;
» var myarray = new Array();

Question No: 8 (M - 1) . (http://www.vuzs.info)
Which one from the following uses IP addresses on network layer?

» Swithes
» Routers
» Bridges

» All of the given
Question No: 9 (M - 1) . (http://www.vuzs.info)
Which topology is the best for handling network easily in organizations?

» Bus Topology
» Star Topology
» Mesh Topology

» Ring Topology

Question No: 10 (M - 1) . (http://www.vuzs.info)

Code: JavaScript

var a = ["v","i","r&amp;amp;quot;,"t", "u", "a", "I"];
document.write(a.join(&quot;:"));

What would be the output of the above code fragment?

> v

» virtual:

» virtual

» v:r:t:u:a:l

Question No: 11 (M - 1) . (http://www.vuzs.info)

For which of the following, XSL is the recommended as style sheet language?

» HTML

» XML

» HTML and XML

» XSLT

Question No: 12 (M - 1) . (http://www.vuzs.info)

Which one of the following ,is the correct way to declare a JavaScript array?

» var txt = new Array="tim","kim",&amp;amp;quot;jim"

» var txt = new Array(1:"tim",2:"kim&quot;,3:"jim")

» var txt = new Array("tim","kim",&amp;amp;quot;jim")

» var txt = new Array:1=("tim")2=("kim&amp;amp;quot;)3=("jim")
Question No: 13 (M - 1) . (http://www.vuzs.info)

What does mean by != comparison operator?

» Equal to

» Not

» Equal

» Not Equal

Question No: 14 (M - 1) . (http://www.vuzs.info)


http://www.vuzs.info/
http://www.vuzs.info/
http://www.vuzs.info/
http://www.vuzs.info/
http://www.vuzs.info/
http://www.vuzs.info/
http://www.vuzs.info/

What is the correct HTML for making a hyperlink?

» W3Schools

» W3Schools.com

» W3Schools.com

» http://www.w3schools.com (http://www.w3schools.com/)
) Intrepret this statement: <strong>Michelle</strong>

a) It makes Michelle strong

b) It highlights Michelle as being strong

c) It will print out Michelle in bold font - correct answer

2) Tables can be nested (table inside of another table).
a) True - correct answer
b) False

3) Which is correct?

a) <b>Click Here<b>

b) <strong>Click Here<strong>

c) <b>Click Here</b> - correct answer
d) </strong>Click Here</strong>

4 Wh|ch of the following is a two sided tag?
a

)
)D
b) L
)D
)

O

d DL correct answer

5) The Browser applies the feature of a tag until it encounters tag.
a) Quit

b) Closing - correct answer

c) Exit

d) Anti

e) Deactivate

(]

) arethe HTML codes that control the apearance of the document contents
a) Tags - correct answer
b) Codas
c) Slashes
d) Properties
e) Code

What are the genral syntax for inline image?
src=img

src=image

img=file

img src=file - correct answer

image src=file

8) An HTML takes text in one format and changes it to HTML code.
a) Browser

b) Editor

c) Converter - correct answer

d) Processor

e) Parser

9) To create a link to an anchor, you use the property in A tag.



http://www.w3schools.com/

10) HTML Tags are case sensitive.
a) True
b) False - correct answer

11) Relative path make your hypertext links
a) Portable - correct answer

b) Discrete

c¢) Uniform

12) A structure starts with a general topic that includes link to more specific topics.
a) Hierarchical - correct answer

b) Linear

¢) Mixed

13) Which of the following path is supported by HTML?
a) Ralative

b) Defererenced

c) Absolute and Relative - correct answer

14) You cannot designate an inline image as a hypertext link.
a) True
b) False - correct answer

15) Because each computer differs in terms of what fonts it can display, each individual browser determines how text is to be
displayed.

a) True - correct answer

b) False

16) You do not have to connect to the internet to verify changes to a Web page on your computer.
a) True - correct answer
b) False

17) You can combine structures e.g, linear and hierarchical.
a) True - correct answer
b) False

18) What is HTML stands for?

a) Hypertext Mailing List

b) Hypertext Mark Language

c) Hypertext Markup Language - correct answer

19) What is the tag for an inline frmae?
a) Iframe - correct answer

b) Inframe

c) frame

d) inlineframe

20) Within the MAP tag, you use the AREA tag to specify the areas of the image that will act as a hotspot.
a) True - correct answer
b) False



21) Can you create an e-mail form with auto responder using form action method=mailto:youdomainname.com?
a) Yes
b) No - correct answer

22) What is the most widely use e-mail form script?
a) ASP

b) PHP - correct answer

c) Perl CGI

d) JSP

23) There are color names recognized by all version of HTML.
a)6
)8
c) 256
d) 16 - correct answer

24) Software programs, like your Web browser, use a mathemathical approach to define color.
a) True - correct answer
b) False

25) If you want to increase the font size by 2 relative to the sorounding text, you enter +2 in the tag.
a) True - correct answer
b) False

26) What operator makes converts 00110011 into 110011007?
a) ~ - correct answer

)
)
)
)

o O T

!
&
I

27) The default statement of a switch is always executed.
a) True
b) False - correct answer

28) H1 is the smallest header tag.
a) True
b) False - correct answer

29) The page title is inside the____ tag.
a) Body

b) Head - correct answer

c) Division

d) Table

30) refers to the way the GIF file is saved by the graphics software.
a) Dithering

b) Interlacing - correct answer

c) Balancing

1) What does XML stand for?

a) eXtensible Markup Language - correct answer

)
)

b) X-Markup Language

¢) Example Markup Language
)

d) eXtra Modern Link



2) Which of the following is (are) a valid XML name(s)?
a)1-2-4_6

b) :3:-3:5:-7 - correct answer

C) ;123456

d) 3:4;-7

3) DOM 2 doesn't provide mechanism for interrogating and modifying the namespace for a document.
a) True

b) False - correct answer

4) The DOM specification describes how strings are to be manipulated by the DOM by defining the datatype tis
encoded using encoding scheme.

a) DOMString, UTF-8

b) DOMString, Unicode - correct answer

¢) UNICODEString, Unicode

d) String, Unicode

5) An MNC receives at its headquarter from its subsidiaries, XML documents containing various reports of that subsidiary. These
reports need to be displayed to the person responsible at the headquarter for that subsidiary in a user-friendly manner (allowing
searches through the document) and the person is allowed to make any changes/comments that he/she desires. Once the user
is done with all the changes/comments the information needs to be fed into the central database. Which of the following is MOST
appropriate for processing these XML documents?

a) DOM - correct answer

b) SAX
c) CSS
d) XSL

6) Which of the following is an XML-based service IDL that defines the service interface and its implementation characteristics.
a) UDDI
b) WSDL - correct answer
c) SOAP
)

d) Path

7) Which statement about XML is true?
a) Elements may nest but not overlap - correct answer
b) Quoting attributes is optional

)

c) Elements may have multiple attributes with the same name
8) What is the correct declaration syntax for the version of XML document?

b) <?xml version="1.0"?> - correct answer

)
a) <?xml version="1.0" />
)
¢) <xml version="1.0" />

9) How is an empty element field defined?



a) <name></name

)

b) <name />

c) <name/>
)

d) All of the above - correct answer

10) XML document must be valid?
a) True - correct answer
b) False

11) Every XML document must be well formed
a) True - correct answer
b) False

12) Every XML document must have an associated DTD or schema
a) True

b) False - correct answer

13) XML preserves white spaces
a) True - correct answer
b) False

14) For the XML parser to ignore a certain section of your XML document, which syntax is correct?
a) <I[CDATA[ Text to be ignored ]]> - correct answer

b) <xml:CDATA[ Text to be ignored 1>

c) <PCDATA> Text to be ignored </PCDATA>

d) <CDATA> Text to be ignored </CDATA>

15) What is a correct way of referring to a stylesheet called "style.xsI"?
a) <stylesheet type="text/xsl" href="/style.xsl" />
b) <link type="text/xsl" href="/style.xsl" />

)

c) <?xml-stylesheet type="text/xsl" href="/style.xsl" ?> - correct answer

16) Which is not a correct name for an XML element?
a) <first name> - correct answer
b) <age>

)

c) <NAME>

17) What does DTD stand for?

a) Document Type Definition - correct answer
b) Dynamic Type Definition

c) Direct Type Definition

18) What makes XML more powerful than HTML?
a) Not as much coding is needed

b) Its ability to adapt to new uses - correct answer



¢) The fact that its supported by all of the major software vendors

19) Unlike most other markup languages, including HTML, XML allows you to do what?
a) Create new tags - correct answer

b) Exchange information over the Web

c) Put your tags in any order, with closing tags optional

20) In what year did the World Wide Web Consortium release its draft of XML?
a) 1994
b) 1995
c) 1996 - correct answer
d) 1997
21) What organization presented the first version of Starndardized Generalized Markup Language (SGML) in 19807?
a) Internet Engineering Task Force (IETF)
b) IEEE
c) American National Standards Institute (ANSI) - correct answer
)

d

22) You can use XSL Transformation (XSLT) to convert database files described by XML to Structured Query Language (SQL)
statements, which creates the tables, indexes and views that the XML data describes.

a) True - correct answer

b) False

1) What does CSS stand for?
a) Creative Style Sheets

b) Computer Style Sheets

)
)
)
c) Cascading Style Sheets - correct answer
d) Cascade Style Sheets
e) Colorful Style Sheets
2) Where in an HTML document is the correct place to refer to an external style sheet?
a) In the <body> section
b) At the end of the document
c) At the top of the document
d)

)

e) Between head and body

In the <head> section - correct answer

3) Which HTML tag is used to define an internal style sheet?

a) css

b) text/style

c) style - correct answer
)

d) script



5) Which is the correct CSS syntax?
a) body {color: black} - correct answer

)

)
b) body:color=black
c) {body:color=black(body}
)

d) {body;color:black}

6) How do you insert a comment in a CSS file?
a) /* this is a comment */ - correct answer

)

)
b) ' this is a comment
c) // this is a comment //
)

d) // this is a comment
7) Which property is used to change the background color?

)
a) bgcolor:
b) background-color: - correct answer
)

c) color:

8) How do you add a background color for all "<h1>" elements?
a) all.h1 {background-color:#FFFFFF}

b) h1.all {background-color:#FFFFFF}

¢) h1 {background-color:#FFFFFF} - correct answer

9) How do you change the text color of an element?
a) text-color:

)
)
b) color: - correct answer
c) text-color=
d) font-color:
10) Which CSS property controls the text size?
a) font-style
b) text-style
c) font-size - correct answer

)

d) text-size

11) What is the correct CSS syntax for making all the <p> elements bold?
a) p {text-size:bold}
b) p {font-weight:bold} - correct answer



c) style:bold
d) p{font:bold}

12) How do you display hyperlinks without an underline?
a) a {decoration:no underline}

b) a {text-decoration:no underline}

c) a {underline:none}
)

d) a {text-decoration:none} - correct answer

13) How do you make each word in a text start with a capital letter?
a) text-transform:uppercase

b) text-transform:capitalize - correct answer

¢) You can't do that with CSS

14) How do you change the font of an element?
a) fon-face:

b) font-family: - correct answer
c)f:

d) font-style:

15) How do you make the text bold?
a) font:b
b

C

) style:bold

) font-weight:bold - correct answer

16) How do you display a border like this: The top border = 10 pixels, The bottom border = 5 pixels, The left border = 20 pixels,
The right border = 1pixel?

a) border-width:10px 20px 5px 1px

b) border-width:10px 1px 5px 20px - correct answer

c) border-width:10px 5px 20px 1px

d) border-width:5px 20px 10px 1px

17) How do you change the left margin of an element?

a) padding:

b) indent:

C) margin:

d) text-indent:
)

€) margin-left: - correct answer

18) To define the space between the element's border and content, you use the padding property, but are you allowed to use
negative values?
a) Yes

b) No - correct answer

19) How do you make a list that lists its items with squares?



a) type: square

)
b) list-style-type: square - correct answer
c) list-type: square

)

d) style-list: square

20) What is the correct HTML for referring to an external style sheet?
a) <link rel="stylesheet" type="text/css" href="/mainstyle.css"> - correct answer
b) <style src="/mainstyle.css">
c) <stylesheet>mainstyle.css</stylesheet>
)

d) <link url="stylesheet" type="text/css" href="/mainstyle.css">

21) Which HTML tag is used to define an internal style sheet?
a) <script>
b) <css>
c) <stylesheet>
)

d) <style> - correct answer

22) Which HTML attribute is used to define inline styles?

a) styles

b) class

c) font
)

d) style - correct answer

23) What is the correct CSS syntax for making all the <p> elements bold?
a) p {font-weight:bold} - correct answer
b) p {text-size:bold}
c) <p style="text-size:bold">
)

d) <p style="font-size:bold">

24) How do you make each word in a text start with a capital letter?
a) text-transform:capitalize

b) ext-transform:uppercase - correct answer

c) You can't do that with CSS

25) How do you change the left margin of an element?
a) left-margin:
b) margin:
¢) margin-left: - correct answer
)

d) text-indent:

26) What are the three methods for using style sheets with a web page
a) Dreamweaver, GolLive or FrontPage

b) Inline, embedded or document level and external - correct answer

¢) Handcoded, Generated or WYSIWYG



